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Second Semester of Three Year LL.B. Examination, June 2011
FAMILY  LAW  – II

Mohammaden Law and Indian Succession Act (Course – V)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer all 5 Questions.
2. Figures to the right indicate marks.
3. Answers should be written either in English or Kannada

completely.

UNIT – I

Q. No. 1. (a) State the provisions of the Shariat Act, 1937. Marks : 15
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OR/�����
State the essentials of a valid marriage under Muslim law.
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(b) ‘A’ a Hanafi Muslim has four wives. He marries the fifth wife.
Is the fifth marriage valid ? Marks : 5
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OR/�����
A Muslim wife want to claim Mahr from her husband inspite
of having an express agreement between them not to claim it.
Can she claim ?
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UNIT – II

Q. No. 2. (a) Who is a Muslim ? Explain the rules relating to conversion to
Islam. Marks : 15
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Who are entitled to be the guardians of the person and property
of a minor under Mohammaden law ?
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(b) Write a note on parental rights. Marks : 5
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When can a legal guardian dispose the immovable properties
of a minor ?
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UNIT – III

Q. No. 3. (a) How is divorce effected under Mohammaden law ? Discuss
briefly the modes of divorce. Marks : 15
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OR/�����

Write an essay on Shah Banu’s case and its consequences.
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(b) Write a note on ‘connivance’ as a bar to matrimonial relief. Marks : 5
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Write a note on alimony under Indian Divorce Act.
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UNIT – IV

Q. No. 4. (a) Explain the general principles of inheritance under Sunni law.  Marks : 15
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Who is an administrator ? What are his powers and duties ?
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(b) A testator draws a line across his will and writes on the back of
it ‘this will is revoked’. Does it amount to revocation of will ?     Marks : 5
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OR/�����
‘A’ an Indian Christian dies leaving behind two sons and a
daughter. Distribute the property.
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UNIT – V

Q. No. 5. (a) Define will. Explain how privileged will is executed ? Marks : 15
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Discuss the need for Uniform Civil Code.
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(b) ‘A’ bequeaths to ‘B’ Rs. one lakh to be paid at the death of
‘C’. A dies and is survived by ‘B’ and ‘C’. When does the
legacy vest in ‘B’ ? Marks : 5
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OR/�����
A sum of money is bequeathed to ‘A’ on his completing his
eighteenth year and in case of his death, before he completes
his eighteenth year, to ‘B’. ‘A’ completes his eighteenth
year and dies in life time of the testator. Does the legacy for
‘A’ lapse ?
*
+���� � &�:�)�[�)� � 
����a��
�������� � 

���)� � !����� � 
)��.������� � 
����O
'�>��������
���.������)�0�F�M�)���!������
)7�)��*
+�����&�:�)�[���
����aM���

����@��
�M���7��)��0��)���
�����*�+��)��>)7�����1�)��*
+�����&�:�)�[���
���$
��bO$�)�����
����O'�>�������$����#7%��
����J�U�7��
����O&)�������1�)�

����O'�>�������
���.����*
+��)���)�[\��>�/���1������=���
�L�)�8

________________


